“Fle 0S 130 G

o4 feet (120cm) offset antenna
with rolled lips edges. ®

e Fasy assembly & strong Az/El mount.
e Tripod struts LNB supporter.

@
)

M6*40mm 1
M6 HEX NUT |4
M4 NUT 1
M6*12mm 2
M8*15mm 8
M8 HEX NUT |15
M8*190mm 1

M8*85mm

M6 NUT

MB*12mm
MB*35mm
M4*15mm

OO0 @ OO0V O
T AT

=W N

02—A208—120A (SP07-011) 2011°08.03




